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QUESTION 1

A switch interface has been properly configured for static port security with one defined allowable MAC address.
However, when the network administrator plugs a switch into that port, multiple devices are still allowed access to the
network. Where must port security also be enabled to have an effect? 

A. Enabled globally on the switch 

B. Enabled on all attached devices 

C. Enabled on all switches in the network 

D. Enabled on all interfaces of the switch 

Correct Answer: A 

Reference: https://www.dell.com/support/article/en-us/how10392/how-to-configure-mac-based-port-security-on-dell-
n2000-n3000-and-n4000-series-switches?lang=en 

 

QUESTION 2

How does the weighted Queue Scheduler prioritize packets? 

A. Scheduler prioritizes weighted queues over any strict queues 

B. Weights are calculated based on the number of packets 

C. Weights are used to calculate the number of bytes 

D. Weight is assigned to each port 

Correct Answer: C 

Reference: https://infohub.delltechnologies.com/static/media/6582046d-70f0-4ab6-ba72-2c0b9cf26649.pdf page 6 

 

QUESTION 3

If VoIP traffic uses multiple QoS prioritization schemes, what refers to VoIP traffic? 

A. COS 2, DSCP 22, AF 

B. COS 2, DSCP 46, EF 

C. COS 5, DSCP 42, AF D. COS 5, DSCP 46, EF 

Correct Answer: D 

 

QUESTION 4
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Refer to the Exhibit. 

If Client B sends a packet to Client A, what is the highest level of the network hierarchy that the packet will transverse? 

A. Distribution 

B. Network 

C. Access 

D. Core 

Correct Answer: D 

 

QUESTION 5

Which RSTP-PV features are embedded and cannot be disabled? 

A. DirectLink Rapid Convergence and DirectLink Fast Rapid Convergence 

B. InditectLink Rapid Convergence and IndirectLink Fast Rapid Convergence 
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C. DirectLink Rapid Convergence and IndirectLink Fast Rapid Convergence 

D. DirectLink Fast Rapid Convergence and IndirectLink Rapid Convergence 

Correct Answer: C 

Reference: https://www.manualslib.com/manual/858353/Dell-Networking-N4000-Series.html?page=724 

DES-5121 PDF Dumps DES-5121 Study Guide DES-5121 Braindumps

Powered by TCPDF (www.tcpdf.org)

DES-5121 PDF Dumps | DES-5121 Study Guide | DES-5121 Braindumps                                4 / 4

https://www.geekcert.com/des-5121.html
https://www.geekcert.com/des-5121.html
https://www.geekcert.com/des-5121.html
http://www.tcpdf.org
https://www.geekcert.com/des-5121.html
https://www.geekcert.com/des-5121.html
https://www.geekcert.com/des-5121.html

